
4.1       1)   

Αν    
πολλαπλασιάζουμεμε3 αφαιρούμε2

1 2 1 2 1 2 1 2x x 3x 3x 3x 2 3x 2 f x f x           

Άρα η f είναι 11 

4.1       2)   

Αν    
πολλαπλασιάζουμεμε5 προσθέτουμε 4

1 2 1 2 1 2 1 2x x 5x 5x 5x 4 5x 4 f x f x           

Άρα η f είναι 11 

4.1       3)   

Αν    
πολλαπλασιάζουμεμε 2 προσθέτουμε 1

1 2 1 2 1 2 1 2x x 2x 2x 2x 1 2x 1 f x f x


               

Άρα η f είναι 11 

4.1       4)   

Αν    
πολλαπλασιάζουμεμε 3 αφαιρούμε7

1 2 1 2 1 2 1 2x x 3x 3x 3x 7 3x 7 f x f x


               

Άρα η f είναι 11 

4.1       5)   

Αν    
πολλαπλασιάζουμεμε2 πολλαπλασιάζουμεμε3

1 2 1 2 1 2

1 2 1 2

1 1 3 3
x x 2x 2x f x f x

2x 2x 2x 2x
           

Άρα η f είναι 11 

 

4.1       6)   

Αν 
πολλαπλασιάζουμεμε4 αφαιρούμε9

1 2 1 2 1 2x x 4x 4x 4x 9 4x 9          

   1 24x 9 4x 9

1 2e e f x f x      

Άρα η f είναι 11 

4.1       7)   

Αν 
πολλαπλασιάζουμεμε2 προσθέτουμε5

1 2 1 2 1 2x x lnx lnx 2lnx 2lnx        

   1 2 1 25 2ln x 5 2ln x f x f x       

Άρα η f είναι 11 

 


